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: 1. If the letters l et e r a were arranged properly, they would spell: [
j (1) later (2) elated (3) rattle (4) elevate (5) relate ........................ ODEEEE
I 2. O isto O as iste: (1) (2) 3) O (4) EI (500 ..... NEEEE
3. Tall is to short as day is to:
; (1) long (2) night (3) week (4) day (5) morning ........ccoovvvennnnn... 0 EGEEE
i
f s CD is ,,9.,-, isro: ()N (2) W @i eoMoozes.
| 5. My sister's daughter is my father's . . . ..
| (1) niece (2) cousin (3) granddaughter (4) sister-in-law (5) aunt ... ........ OEREGEAE
i 6. 2,9, 16,23,30, ...., ..... What two numbers should come next?
f (1)35and 42 (2)39and46 (3)37and44 (4)36and40 (5)31and32 ...... OERBEEE
! 7. Which word does not belong with the others? ¢
i (1) house (2) factory (3) residence (4) home (5) dwelling place ............ ARBEREE !
! 8. If the letters inaled were arranged properly, they would spell: f
i : (1) delayed (2) lament (3) inlaid (4) denial (5)elapse ..................... O EGEA Eli
| 9 5,913,17, 21, iS, ....r ..... What two numbers should come next? {
= (1)292and 30 (2)29and31 (3)29and33 (4)25and 27 (5)27and29 ...... NEEEE!
10. The outline is too vague to . . . . the shape, A word for the blank is:
‘;"‘ (1) summon (2) resist (3) indicate (4) cause (5) ordain ............ . u sy e NEGEEAE
! v ‘ll.Ois'oOus'lno: (1)O (2)| 3)0 () (B5)—...... EHIIEIEIEI\
12. . Poem is to poet as portrait is to: .
¥ (1) sculptor (2) architect (3) painter (4) musician (5) historian ............ [ [@ B & 6
1 13. 1,7,13,19, ....,....,37. What two numbers should be on the dotted lines?
(1)27and 33 (2) 25and 31 (3) 24and 30 (4) 26and29 (5)28and 35 ...... G GEGEE
* T T Page 1 Go on to the next page. \
%
b

(a



14,

15.
16.

17.
18.

20.

21,
22,

23.

24,

25.

31.
i 32.
! 33.
7 34.

L 35.

19.

d to mako a
mistakes do student ful make not If these words were arrange
good sel:tcnce,'\:ha.tnv:oxflcgu the third letter of the second wordt n0nEn
(I)m (2)d (3) s (4) € (B) U cernrrroroenmmimmmmmsmes mon
........... ®
[is 10 1 a5 is to: 1) — (27 (3) | @wa ¢)-.....
Which weord does not belong with the others? 006G

(1) novice (2) accomplice (3) partner (4) associate (5) helper ....coovereens

Kisto X as ™ is tor (1)['— (2)—'| @ X (@1 (5)_'.-----51!11@&1@

"'Give every man thine ear, but few thy voice' means qbout the s:}mF ﬂSid

(1) Few words, many deeds. (2) Full vessels give the l(jnst‘m‘m:‘ :

(3; Much talk, little work. (4) The tongue is not steel, yet it cuts. - DEEEE
(5) A man of sense talks little but listens much, ..........ocoreenen

:H: is to a as Ett is to: (1)-”- (2) B (3)+ (4)_”1— (5):F .......... niojojofo]

com? i’)ﬂ 't?nlxsllth e(%[;pto:si:: Of(:a ) owe (4) rebuild (5) diSperse ..........oieeieiiriens 066 EE
jlsh_JosElsfo: (1)|_ (2)__] (3)[— (4)—j (S)E DERE®
s S B i and o (2) v0amive THY V2 and 12 (3) 13 and 8 ... TEEED
e N iaines” 1ot Tratidione (3} deliente (4) exquisite (5) hearty .....vverrenr. mjojepojo

A commendable person is:

(1) beginning (2) talkative (3) praiseworthy (4) formidable (5) important.... 0 E & [0®E

HistoHusZisIo:(l)D‘q (2)I (3)>°< (4)% (5)X najoojo)

26. 1,6,11,16, ... ., ..., 31. What two numbers should be on the dotted lines?

(1)21and 26 (2)17and 25 (3) 26and 29 (4)22and27 (5)20and 25 ...... DomEEB
27. Pride is to victory as humility is to:

(1) defeat (2) modesty (3) achievement (4) conceit (5) violence ............ OEEHE
28. 4,8,16,32, ... .. What number should come next?

(1)36 (2)48 (3)40 (4)54 (5) 64 ... ...\t iiiiiinenneenns ODEEEE

,29.Aistoj>os$isfo: (I)A (2)\¢j (3)@' (4)@ (5)&...@@@@@

30. A drizzling rain fell without . . . . A word for the blank is:

(1) beginning (2) opposite (3) intermission (4) length (5) moisture ......... DEREE

O is to D as A is to: (I)G (Z)D (3) D (4)v (5) B ...... DnEEmE

substance made a bricks called and clay are from pottery If these words
were arranged to make a good sentence, what would be the word after substance?

(1) bricks (2) clay (3) called (4) are (5)pottery ............c.oovvvuvnnin. OEEEE
Truth is to falsehood as pride is to

(1) fear (2) crime (3) honor (4) humility (5) truth ................c....... DEEAE
10,7,9,6,8,5 7, ..... What number should come next?

(1)6 (2)8 (3)10 (4)4 (5)5 ..o i OEEEB

A desert always has:
(1) alack of vegetation (2) an oasis (3) nomads (4) camels (5) palmtrees.... DD EEE

. A rosette is a:

(1) banner (2) decoration (3) seat (4) scepter (5) baton ................... DEEEE
512, 256,128,64,32, ... ., ... .. What two numbers should come next?
(1)8and4 (2)31and30 (3)33and34 (4)16and8 (5)24and16......... DEEmaE
. Water seeks its own . .. .. A word for the blank is:

(1) money (2) weight (3) cold (4) level (5) length

. & is to as AA is to: (1) A (2)& (S)W (4)\&Y N Aolololofo

. Which word does not belong with the others?

(1) publication (2) discourse (3) journal (4) periodical ( 5) magazine

—— i,
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" 41. My father's son’s sister may be my daughter's .
42.

43.

44.

45.

47.

48.

49.

50.

51.

52.

53.
54.

55.

56.

' s7.

: 58.

-1 2

61.

62.

63.

64.

65.

(1) uncle (2) aunt (3) cousin (4) grandmother (5) nICCE «..vevevrernnnnn. .. NEREE
How many pints are there in 1 gallon and 11 quarts?

(17 (2)9 ()11 (4)15 (5)19 oo IREAE
Vague is the opposite of:

(1) ambitious (2) poor (3) opaque (4) definite (5) insincere ................ LEEEE
8,4,21, %, -««-r --... What two numbers should come next?

1 1
) () Fand & (2) § and § (3)1and § (4) Jandl (5) 2and 3. .uuevnennn, QREO®
An ounce of prevention is worth a pound of cure" means about the same as:

(1) 1lg_ont cry over spilt milk. (2) A miss is as good as a mile.

(3) Discretion is the better part of valor. (4) Don't cross a bridge until you come to it.

(5) A stitch in time saves MiNE. . ... ....... .. ... 0¢ ettt ieeer e aaaes DERAEE
An inaccessible place cannot be:

(1) reached (2) seen (3) described (4) pierced (5) carried ...\vvvvvvvenes... DEBEE
The daughter of my uncle has a brother. My father is her brother's . . . ..

(1) grandfather (2) great-uncle (3) cousin (4) uncle (5) nephew .......... DEAAE
729,243,81,27, .., ... What two numbers should come next?

(1)9and3 (2)26and25 (3)20and 13 (4) 19and 11 (3)9and7 .......... njolafo)
with busy filled the bees air of was hum the If these words were arranged
to_make a good sentence, what would be the last letter of the third word?

(I)m (2)y (3)d (4)S (5) € -rreermnae e iie e iia ittt inaa s niofialofo)
A tremulous leaf is:

(1) green (2) brown (3) parched (4) wilted (5) quivering ............ RPN DRAEAAE
The ranks were . . . . by desertions. A word for the blank is:

(1) depleted (2) accustomed (3) arranged (4) joyful (5) assumed .......... njujojojs
Two pints equal one liter. Three liters equal one rabek. What is the cost of 5 rabeks

of milk at 6¢ a pint?
(1) 90¢ (2) 30¢ (3) SL.80 (4) 60¢ (5) $3.60 ... vivnvenneerriiiinieinnannns njejajolu)

A isfol>asN is to: (1)<] (2)Z (3)M (4)D (5)’A njejojols)

When you multiply together the length, the width, and the height of a room, you find its:

(1) perimeter (2) diagonal (3) area (4) volume (5) circumference ........... OEREAE
Listless means: -

(1) systematic (2) accurate (3) loathsome (4) enthusiastic (5) indifferent ..... NEENA
Add is to subtract as humble is to:

(1) rich (2) happy (3) haughty (4)mild (5)ill ......... .. ... o ity 0E & . E

fruit children good cereals are for and If these words were arranged to make a
good sentence, what would be the second word?

(1) fruit (2) children (3) good (4) cereals (5)and ............ i iiininnnns & EGE
74,63,52, . ..., .. ,19. What two numbers should be on the dotted lines?

(1)41and29 (2)41and30 (3)42and31 (4)43and32 (5)39and28...... niajajojo!
“Many cooks spoil the broth” means about the same as:

(1) A good fire makes a good cook. (2) Every cook praises his own broth, .

(3) Two captains sink the ship. (4) Civilized man cannot live without cooks.

(5) All lay loads on the willing horse. ........... .. . i iiiiiiiiiiiiiii, EEa
Club is to member as hand is to:

(1) arm (2) feel (3) finger (4) body (5) work ......ociviiiiiiiiiiiiininnn, njejajojo!

his scientific admired taste he knowledge for his artistic and for was If these
words were arranged to make a good sentence, what would be the word after artistic?

(1) taste (2) admired (3) scientific (4) knowledge (5) was .......cvvvivinn, niniainin)

Napoleon said a French soldier was equal to 3 Austrians or to 5 Russians.
A dozen Austrian soldiers were equal to how many Russians?

(1)20 (2) 8 (3) 15 (4) B0 (5) 36 -.voonneerrirrereaanesinneeansaianness NEEEE
7,5,8,6,9, 7,10, ... . What number should come next?

(1)7 (2)10 (3)8 (4)11 (5)5 .. iiiiiiiiiiiiians T R, (RO E AT RE|
The uncle of my father's grandson is my:

(1) nephew (2) cousin (3) grandfather (4) brother (5) son ....... R LU E1 N ET T R Y

*Still waters run deep’’ means about the same as:
(1) Water is the best of all things. (2) After rain comes sunshine.
(3) Rashness is not valor. (4) The more understanding, the fewer words.

(5) He that seeks finds. ........ovviuiunininiinnniniireieneiniian, Elm@ @A

Page 3 Go on to the next page.



66.

67.

68.

69.

70.

71.

72,

73.

74,

75.

76.

78.

79.

80.

82.

83.

84.

85.

87.

89.

Electricity is to wire as gas is to: ' _

(1) flame (2) spark (3) hot (4) pipe (5) stove .................oooiiiii. mGEEEE
3,9,12,36,39, 117, ..., ..... Whattwo numbers should come next?

(1).120 and 360 (2) 120 and 234 (3) 234 and 236 (4) 351 and 354

(5) 121 and 363 ... ..o [ @6 EE
A demure person is always: .

(l)'r:odest (2) buoyant (3) intelligent (4) ill (5) dependable .. .... e 0@ E GEE
In a spelling test a girl had 18 words right, giving her an accuracy of 75%.
How many words did she miss?

(1) 8 (2) 6 (3) 3 (4) 4 (B) 9 cevvurmnrninaerame et njafefolo]
Sorrow is to misfortune as joy is to: ) .

(1) griet (2) happiness (3) hatred " (4) success (B)pride .........oiiiuin [ @ @ @ 6
An obvious fact is:

(1) assumed (2) hateful (3) clear (4) hidden (5) doubtful .................. o @& G E

From a class of 20, 15% of the pupils were absent one day. How many were present?
(1) 15 (2)17 (3)3 ()T (B) 5 oo 0 R BEEE

Onyx is a:

(1) limestone (2) quartz (3) glass (4) granite (5) metal ............cunnnn [ [z & @ 6
625, 125, 25, 5, . .. .. What number should come next?

(1)1 (2)2 (3)3 (4)4 (5)0 i 0EEEE
A palette is used by:

P (1) carpenterz (2) lawyers (3) musicians (4) artists (5) physicians ........... O &6 G E

Vivacious means about the same as:

(1) intelligent (2) animated (3) sarcastic (4) courageous (5) moody ........ 0 GG GEE
A certain kind of wood is % as heavy as water. Iron is about 7 times as heavy as water.
Iron is how many times as heavy as the wood?

(1)21 (2)7 ()33 ()14 (5) T oovvieni e 06 EE
“It is indeed an ill wind that blows.no one good” means about the same as: '

(1) Birds of a feather flock together. (2) Correspondence is half a presence.

(3) Patience is the key to glory. (4) The tongue is the neck’s enemy. '

(5) The calamities of one nation turn to the benefit of another. ..... .............. OEBGEGEE
Discreet means:

(1) wasteful (2) attentive (3) continuous (4) remorseful (5) prudent......... 0 e G 6 E
Depressed is the opposite of:

(1) repressed (2) elated (3) apathy (4) anxious (5) eager .................. 01 2 B @ &
A terse style of writing is:

(1) emotional (2) mechanical (3) unsatisfactory (4) concise (5) iromical ...... G B EE
When 3 pupils were absent from a class, the attendance was 94%. How many
pupils were there in the class?

(1)30 (2)90 (3)50 (4) 15 (5) 3L oot D EGEGEBE
Subsequent means: ’

(1) small (2) attached (3) following (4) irregular (5) important ............ OneERAEE
Anger is to violence as love is to:

(1) caressing (2) hate (3) tempter (4) hope (5) happiness ..........c.c..... OEBEGEE

.. , .
O i Al

A craven is a:

(1) bird (2) fish (3) vase (4) coward (S5)desire ........................... [ G 6B G E
“No sweetness in a cabbage twice boiled or in a tale twice told" me bout th :

(1) A good tale ill told is a bad one. (2) A tale neve:glos‘:as in tn}llea:lesll?ng.u o sume ®

é 3; A good tale is not worse for being twice told.

4) There is much good sleep in an old story. (5) A tame tongue is a rare bird. . . . .. 0 B EEE

A recreant individual is:

(1) young (2) reborn (3) smug (4) happy (5) cowardly .................... 0 @ & G e
If a franc were worth 2%’.‘, how many francs would one receive for $100.00?

(1) 2500 (2) 400 (3) 40,000 (4) 250 (5) 4000 ............... o000 NEEEE
A menial person is: '

(1) servile (2) cunning (3) cross (4) deceitful (5) severe .................. AR
Ambiguous is the opposite of:

(1) definite (2) small (3) genuine (4) enigmatic (5) perpetual ............... OEEAE
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1. Aft hool he . . . right home. A word for the blank is: i
. (si)oslept (2) saw (3) hurried (4) often (5) slowly ......... .. .ot OpEEE t
2. One can travel fastest by: .
(1) bus (2) bicycle (3) train (4) boat (5) airplane ............ ... ol DEEAE
3. A boy is to a girl as a man is to a: . \
y(1) boy (2) woman (3) pilot (4) horse (5) purse .. . ......... ... cc.eiirnnn. nfajapniom
\
4. The days are long in summer and . . . . in winter. A word for the blank is: {
(1) very (2) short (3) long (4) almost (5)snow,....,‘,........,..........E]E]E]E]@'
5. Which word does not belong with the others? !
(1) car (2) wagon (3) house (4) carriage (5) bicycle .. .................. Injajoinjiol
6. The most important difference between a watch and a clock is that a watch: :
(1) runs faster (2) is smaller (3) ticks louder (4) is gold (5) costsmore ...... DA B EE |
7. |isio|as/isto: 1)y — (27 (S)I ()0 (5) = .. njujujoio i
8. Which word does not belong with the others? :
(1) uncle (2) father (3) niece (4) grandmother (5) friend .. ................ opEEaE!
9. If the letters sealeer were arranged properly, they would spell: \

(1) release (2) reeling (3) jealous (4) lesser (5) slander ... .. ... oviueinin.s NEEEE
10. A table always has: l

(1) drawers (2) legs (3) cloth (4) coverings (5) paint ..........covveevnnns NIREE
11. When we sleep we: ‘
(1) run (2) march (3) play (4) rest (5) eat .. ........ . 'eriiin, nEEa®!
12. If the letters rutanal were arranged properly, they would spell: [
(1) nocturnal (2) lantern (3) rational (4) talent (5) natural = ............ 0EE& ml
13. 4973568354289365284735926 In this number, how many 3's are followed by a 5 P ‘
(1) one (2)two (3) three (4) four (5)five . ................. . L. DEEAE Ell
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k is:
14. The poet, holding the . .. ., was beginning fo read. A word for the blank is:  EEEE
(1) secure  (2) Openi:é ( 3)g;)recigus (4) manuscript ~ (5) prerogative ...

15. 3,6,9,12,15,18, ..., ... What two numbers should come next?  DEEEE
(1)19and 20 '(2)'21'and 22 (3) 21and 24 (4) 15and12 (5) 17 and 16
16. A suburb is near a: IEEEE

................

(1) city (2) paragraph (3) hospital (4) creamery (5) drama

;'7-<Dinoeas iste: (1)\  (2) (34 (4)[!3 ('S)mmmmmm

18. 8295295387261592368245795 In this number, how many 9's come just before a 57 Mnlolo]o
(1) one (2) two (3) three (4) four (5) five ..........oooerrmrerrereers s

) moon 3 o o (3] bt e NEEEE
2 Whi‘:h( rl)olr'?v:roez?.n)o{)g:clflng( I;v)i';‘al'cze ‘(,:lh)erbs:ook (5) 0CEAM ..\vvvnvvnnsennrnnneneres OEEEE
a1 Tel is(t{))s{:;lr;as(gc):yniisgg:: (3) week (4) pay (5) ever ...........cocecvnenriens ... O0EBEEE
e eaition” (2) nenmed 15 et (4) germite (3) rotract ... LELL
S she?tl ;fﬂr:ly:}sli!;nlzvzcsy:vg:;; (3) notes (4) covers (5) players ..........oiivianenn O & & EE
24. The aviator leaped with his: OEEAEE

(1) hangar (2) legion (3) parachute (4) globe (5) balloon ..................

‘25.):.»(«;:;;:0: 1\ (2)[ (3)|__| (4)|_—| (5)(....E1EIEIEJEI

26. Multiply is to divide as cold is to:
(1) fire (2) sick (3) hot (4) fever (5) SHOW ...euveveernenreaneesionaenns OEEdeE

'zr.DiuansAim:(;)V (2)D (3)O (4)A (5)/\ IEEEE

28. Temporary means that which is not:

' (1) homelike (2) familiar (3) similar (4) automatic (5) permanent .......... OEBEAEE
' 29. 5862395632475684938527436 In this number, how many 4's come just before a 37
[ (1) one (2) two (3) three (4) four (5)five .. ....ccvvviviiiiiiiininnnnn. EEEe

' 30. The father of my mother's father is my:
(1) uncle (2) grandfather (3) great-grandfather

(4) great-great-grandfather (5) great-uncle .............. Ceiiivituievithevaves ONEEEE
* 31. Large means the same as:

(1) top (2) long (3) wide (4) great (5) striking ...........ccvvirinnnnn... 0 GG GEE
( 32. 48, 55, 62, 69, . .. .. What number should come next?

(1) 62 (2)76 (3) 65 (4) 75 (5) 77 .. @ittt einennreinsrenness 1 GG A E

* 33. minutes hour make an sixty If these words were arranged to make a good
sentence, what would be the first letter of the first word?
(1)m (2)h (3)@ (4)5 (5B) Y - i ittt e e LEEEE

. 34. *You can't eat your cake and have it too’’ means about the same as:
(1) He robs Peter to pay Paul. (2) Never too old to learn.
3) Words don't fill tlxl)e belly. (4) Things are not what they seem.
é 5; I cannot run and sit still at the same time. ........ N OeE&EGE

1:ls.jism_lmiism:(l)l_ (2)_:| (S)I—_ (4)_2:_1 (S)E DEEEE

36. A mountain always has:
(1) trees (2) snow (3) height (4) streams (5)clouds ....................... @ 8]

. 37. fruit apples called grapes are and If these words were arranged to make a
good sentence, with what letter would the last word begin?

(1) E (2)a8 (3)€ (4) 8 (B) £ vovoraresrsee e NEREE

} Olslo DusAlno: (I)G (2)0 (S)D (4)v (S)B.....EIEIEJEIIII

38,
' 39. 85,79,73,67, . ... What number should come next?
(1)6 (2)65 (3)62 (4) 61 (5) 60 ..., OEREEE
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“Z¥"Taiy T the opposite of:

L4l

C 42,

a3
44,
- 45.
a6.
ar.

- 48.

49

50.

51.
52.

53.

54.

55.

" 56,

57.
58.
59.
60.
61.

62,

63,

. Inconsequential means about the same as:

63,

(1) carefree (2) vicious (3) thoughtful (4) ambitious (5) slovenly ........... OeEeE@EmE
43,37,31, ... ., ...., 13. What two numbers sh i ‘

(1)27and 21 (2) 25and 19 (3) 26 ando‘;(l)d ?Z;Z;h:n?iog:d %1;;51'?4 and 18 . .... [ EEEE
To exterminate is to:

(1) jest (2) destroy (3) think (4) return (5) deceive ....................... NEEEE
Which word does not belong with the others?

(1) algebra (2) geometry (3) arithmetic (4) history (5) trigonometry ....... BEEE

isio@us@islo:(l)g (2)& (3)@ (4) (5)@ HGEEGEE

Which word_do.es not belong with the others?
(1) Illinois  (2) California (3) Texas (4) Chicago (5) Minnesota ........... L OEEEE

8,1,6,1,4,1, .. - .» What two numbers should come next?

o

(1)3and1 (2) 5and1 (3)3and2 (4)2and0 (5)2and1.............. OEEEE
When you multiply together the length, the width, and the height of a find its:

(1) perimeter (2) diagonal (3) area (4) volume (5) circutl;?ft::':::"nz:u. m ) f'.’.' .. OEREEE
Astronomy is divided into three departments of theory, ... ., and
A word for the blank is: v and computation.

(1) obscrvation (2) stars (3) machines (4) telescopes (5) astronomers . ... .... OEEE
In settling the dispute they finally agreed on a:

(1) contention (2) convoy (3) cynic (4) precinct (5) compromise ........... BRERONE!

skating muscles develop swimming and the If these words were arranged
to make a good sentence, what would be the fifth word?

(1) and (2) develop (3) the (4) skating (5) muscles ....................... HEEGE
22,25,27,30,32,35,37, ..., ... .. What two numbers should come next?

(1) 42and 45 (2) 41 and44 (3) 45and 47 (4) 40and 42 (5)39and42 ..... DRERERONE |
A penitent person is always:

(1) sorry (2) carefree (3) ill (4) showy (5)idiotic ......................... DeEEEE
staff bread the life called is of If these words were arranged to make a good.
sentence, what would be the word after of ?

(1) staff (2) bread (3) the (4) life (5)called ..........ooiiiiiiiiin.... OEEEE
White is to black as severe is to:

(1) mild (2) cold (3) hard (4) empty (5)coal .............ccvvivrvunnn.. L UEEEE

“Give every man thine ear, but few thy voice' means about the same as:
El Few words, many deeds. (2) Full vessels give the least sound.
3) Much talk, little work. (4) The tongue is not steel, yet it cuts.
(5) A man of sense talks little but listens much. ................................ AERBGE

A half dollar is equal to 2 quarters or 5 dimes. A half-dozen quarters are equal
to how many dimes?

(1)30 (2)12 (3)15 (4) 100 (5) 150 ......cviiiiiriiiin i ieriernnennns [ EEGEE
My cousin’'s mother is my sister’s . . .. .
(1) aunt (2) second cousin (3) daughter (4) mother (5) niece .............. OEREAEE

A road always has:
(1) dust (2) gravel (3) cement (4) grass (5) dimensions ................... OEGEGE

To insinuate is to: '

(1) devise (2) err (3) convict (4) hint (5) officiate ............00viiinnn. B AE

The daughter of my uncle has a son. My father is her son’s . .. ..
(1) cousin (2) grandfather (3) great-uncle (4) great-grandfather (5) brother.... M EI GGG

Concentrate is the opposite of:

(1) think (2) taste (3) owe (4) rebuild (5) disperse ..............covivvet, NEEGE
Municipal refers to:
(1) farm (2) church (3) tribe (4) factory (5) town ...............oooie., OEGEGEAE

&islcﬂus is to: (I)D (2)A U @0 ). ooaam

(1) sorry (2) incorrect (3) useful (4) unimportant (5) necessary ............ OeEEEE

“The signboard brings the trade” means about the same as:
(1) A king’s mistake costs dear. (2) Authority brooks no partner.
3) Here I am, here I stay. (4) It pays to advertise.
55; Nothing succeeds like SUCCESS. ... ... ...oivriieiiieiiiiiieiiaiiiianannes oG GEGEE
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67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

78.

79.

80.

81.

82,

83.

84.

85.

86.

87.

89.

90.

. Energetic means about the same as:

(1) sorry (2) sleepy (3) forceful (4) happy (5) brave ................c...... DEEEE
8,4,2,1, %, ey e aeaa What two numbers should come next? ¥
(1) §and? (2) land ! (3)Tand ¥ (4) 3 and § (5) Fand ....... DEEEE

Crete is an island in the:
§1) Mediterranean Sea (2) Pacific Ocean (3) Indian Ocean
4) Black Sea (5) North Sea ............cooiiiiiioniiaieaiieranesaesnaeenns DEGENEE

Niagara Falls almost of has an Buffalo inexhaustible hydroelectric supply
coming power from If these words were arranged to make a good sentence,
what would be the last letter of the first word?

(1) € (2)F (3) € (4)t (5) 0 vuvrenuueenuniaaninninneaeisianiieaineeess OEEEE
Imitate is to copy as invent is to:

(1) study (2) originate (3) invention (4) machine (5) work ................. OEREGEBE
The ranks were . .. . by desertions. A word for the blank is:

(1) depleted (2) accustomed (3) arranged (4) joyful (5) assumed ........... ODEBEAEE
A tremulous leaf is:

(1) green (2) brown (3) parched (4) wilted (5) quivering ................. CHOEEEE
The brother of my father's mother is my:

(1) uncle (2) grandfather (3) great-grandfather (4) great-uncle (5) cousin.... [ G G A E

Disease is to sanitation as accident is to:

(1) doctor (2) hospital (3) bandage (4) cleanliness (5) care ................ OEGEHEE

A creditor always has:
(1) adebtor (2) money (3)loans (4) bonds (5)abank..................... OEBEEE

Which word does not belong with the others?
(1) publication (2) discourse (3) journal (4) periodical (5) magazine ........ 0l (=1 @ @ [

. “Feed sparingly and defy the physician' means about the same as:

(1) Much meat, many maladies. (2) A physician is but a consoler of the mind.
(3) Spare well and spend well. (4) Rely on yourself. (5) All water runs to the sea. [ ] [ [E

The uncle of my father's grandson is my:

(1) nephew (2) cousin (3) grandfather (4) brother (S)son ................. 01 & & [ &
A heavy train in motion always has more . ... than a light one. A word for the blank is: :

(1) people (2) momentum (3) seekers (4) knives (5) space ................. 0 &G GEE

Grieve is the opposite of:
(1) rejoice (2) fear (3) joy (4) angry (5)love ... it ODEBEE

Which word does not belong with the others?
(1) cosmography (2) geography (3) physiography (4) geology (5) physiology.... [l EIE Gl

Ashestos is a product of:
(1) trees (2) petroleum (3) mines (4) wool (5) cotton ............ccouunnn. OEREAEE

In a spelling test a girl had 18 words right, giving her an accuracy of 75%.
How many words did she miss?

(1)8 (2)6 (3)3 (4)4 (5)9 ...covviiiiiiininn. T T T IR R, ok GEGEE
To moulder is to:

(1) deface (2) decay (3) design (4) elevate (5) carve ...........covevnnnn. DEEAas
Circle is to ellipse as square is to:

(1) oval (2) cube (3) curve (4) circle (5) diamond .................... ..., OEEEA
Which word does not belong with the others?

(1) faith (2) belief (3) knowledge (4) credulity (5) trust .............c0.e. 2 [ [& [
27,9,3,1, %, e What two numbers should come next?

(1) 2and ¥ (2) 2 and § (3) $ and 35 (4) gand 55 (5) 3 and §....... ninfejnio)

Evolution is to revolution as crawl is to:

(1) baby (2) run (3) floor (4) stand (5) knees ............ ... ... ... ... ... OEEEE

A certain kind of wood is -;- as heavy as water. Iron is about 7 times as heavy
as water. Iron is how many times as heavy as the wood?

(1) 20 (2)7 (3) 33 (4) 18 (5) TH vvuvmvnmmneeeeei et eee e, NDEEE
A vestige is a:
(1) gift (2) garment (3) presentiment (4) release (5) trace ................. M & EEE
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